(SFG) —

funa = n, cosB; — n,, coso , , e 2n, cos6,
n, cos6,; + n,, cos,, n, cosB, + n,, coso,,
o = n, cos,, — n,, coso, ’ - 2n, cosb,
*  n,cosb, +n,cosb, P n cosh,, + n, cosb,
r1m)< = 'rmlx = r1m,p1 r1m,y =- rml,y = r1m,sv r1mz = 'rmlz = 'rlm,p
Fomx = Tm2x = Fompr Fomy = Tmay = Tomsr Tomz == T2z = Tomp

timx = (€080,/00SO)t 0 timy = tims:  timz = (SINB/SINO )L,
tml,x = (Cosellcosem)tml,p! tml,y = tml,S! tm11 = (SI nel/Sinem)tml,p
tomx = (€0S0,/00S0)tomp  tomy = toms:  Lomz = (SIN6L/SINO ),
tm2x = (Cosezlcosem)tmz,pa tmz,y = tmz,sa tm22 = (S| nezlsmem)tmz,p

—_ _ 2 _ _ 2 _
t1m,(xtm1,o( =1+ rlm,urml,c( =1- rlm,c( ’ t2m,utm2,c( =1+ r2m,o(rm2,(x =1- r2m,(x 1 (G =X, yv Z)

EBs o= ZBLaBPpSF

Sndl SFG ¢) +)
L m
s p X
ATiwg/C
ATiwg /S
Lijs.a m' i j o @=x,Y,2)
S p ) +) -+
m m'

L ympx = 0080, s/ (Ny, 520080, 5 + Ny 50080, &)
L ymsy = 1/(Ny, 20080, & + Ny sC0SB,, )
L ympz = (Np/Ni)SiNG,, s/ (Ny 0088, ¢ + Ny 50080, ) = (Ny/ nm')ZSi NOpy s/ (Ny, 50080, s + Ny, 50080, )
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L+1/m,p,x = 0080, &/ (N; $:00SOy, s + Ny, s£COSH, )
L+]Jmsy = 1/(n,, 50080, & + Ny, 5COSB;, )
L+]Jmpz = - (N/ny)sinG,, s/ (Ny $COSB, s + Ny 50080, &) = -(Ny/ nm')zsi NnB; o/ (Ny, 20088, s¢ + Ny 50080, &)

m m"
L ompx = 0088, &/ (N, 20080, 5 + Ny, 5000, )
L oimsy = 1/(N,, 20088, & + Ny, 50080, <)
L ampz = (No/N)SING,. of (N, $:C0SB, s + Niy 520080, &) = (N nm")ZSi N6, o/ (N, 50088, s¢ + Ny 50080, &)
L+2/m,p,x = 0080, s/ (N, 5-C0SO, s + Ny 570080, <)
L+Zm,sy = 1/(n, 4080, & + Ny, 5£C0SB,, 5¢)
L* ampz = (N Ney)SINB . o (N, C0SB, 5 + Ny 520088, &) = -(Ny/ Ny ) SinB;,s¢/ (N, 50088, 5¢ + Ny, 5,000, )

L-m/m,p,x = L+m/m,p,>< = COsem,S:/(znm,SFajsem,SF)
L-m/m,s,y = I—+m/m,5y = ﬂ(znm,SFmsem,SF)
L-mlm,p,z = 'L+mlm,pz = S nem,SFl(an,SFcosem,SF)

2. (Ym'/m/2) SFG
2.1.
3 = exp(iz/cosh,), a*o = expli(hy, - z,)/cosb,]
b, = exp(iz,/cosB,,), b*,=exp[i(h, - z)/c0sB,,]
*
o =Ml s @ = exp(ih,,/cosB,,),
B = rm'ltm'mrmZtmmazbza
Y= ol o, b = exp(ih,/cosh,,)
@ B O M+ ByD
X=0 O, X' =
o B+yQ %L
+ apd D
v :gﬁ y BD, e EV B
a y o +BD
= |E - XI = |E - Xll = |E - Yl = |E - Y|| =1+ rlm'rm'ma-2 + (rm'm + r‘lm'az)rmzbz
m' z SFG
E* sour ces

a0
E(0) = tm@ 0@ [Ny toed malmnDI[E + X + X7+ -] %L*m-mp(zl)

* 2 -1 DI'[ +
= tm'la od [rm'mi tm'mrmztmmb ][ E- X] %EL m'/m‘P(Zl)



= tm'la* Oa (rm'm + rm2b2)L+m'ﬁn'P(Zl)/Z

+ 2 EH'D +
E (hm+) = tha*Otm'mb [1! G][E +Y+Y +] H)%L m'/m'P(Zl)

-1DI'D +
= tmza*otm'mb [11 G][E - Y] %)%L m

= tmza* Otm‘mbL+m‘lm'P(Zl)/Z

E " sour ces

mP(2)

E(0) = twado [0, BI[E + X + X"+ -] %EL&WP@)

200
=t [, BI[E - X1 G T P2

= tm'lao (1 + rmmrm2b2)I--m'/m'P(Zl)/Z

+ 2 ao -
E (hm+) = tmzaorm'latm'm [11 G][ E+Y+Y + ] H)EL m'/m'P(Zl)

.00
= thaOrm'latm'm [lv G][E - Y] EQEL m'/m‘P(Zl)

= tmza'orm'ltm'rda-bl--m‘/m'p(zl)/z

m m'/m Z
E" sour ces

an
E(0) = ty1b* of s [t Vel [E + X'+ X2 + -] HOEL*MP(ZZ)

oo
= tm'lb* OrmZab [tm'm! ytmm][E - X']-l H)EL mlmP(ZZ)

= tm'lb* Otmmrmzabl- +mlm P(ZZ)/Z

+ 2 mD +
E" (M) = trob* ot [V, BI[E + Y+ Y7 + -] %%L minP(Z2)

SFG

LA,
= ol ot [, BILE - Y] BlEL minP(Z)

= tmzb*o (1 + r1m'rm'rna-2)|-+m/mP(ZZ)/Z

E" sour ces

E(0) = tyabp [L YI[E + X'+ X7 # -] %@L‘mp(zz)

280
= tmabo [1, VI[E - X'] H)HL mmP(Z)
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=tk mmP(2)/Z

+ 2 2 ac -
E (hm+) = thbOb [rmml tmmrm'ltm'ma ][E Y'Y+ ] HEL mlmP(ZZ)

) gy
= thbOb [rmrﬂ! tmrﬂrm'ltm'rna ][E - Y] %%L m/mP(ZZ)

= 'thbOb (rm'm + rlm'az) L-m/mP(ZZ)/Z

2.2.
m' zZ SFG
E'" E
m'/m
er'my D er'mrm'lazrm'rry = ermay
xtm'mrm2tmmrm'1a2b2rm'my = Xtm‘mu [ rmztmmbz]y
m'/m m/2
Xltmrny D er'mrm'laztm‘my, = )«m'n{rm'laztm'm]y
xtm'mrmztmmrm'lazbztm'my = Xtm'mB y
Xtm'mrmzrmmbzy = Xtm'myy
n
Oy, C
er' n +tm'm nI =X rm'mv tm'm U .[
(Y ¥n') = X( )Dyn C
(n+1)

X[rm'm(a yn + rm'ltm'm‘azyn') + tm'm(a rmztmmeYn + Byn‘ + yyn‘)]

Cox Mot 00y, C
= X(fms tm) . " ¢
gmztmm'b a B + Y @[y” C
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(2.10)
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Iletm'm 0
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a’0
= X(rm'm! tm‘m)D 2 D '
Botm0@  B+y § Dol
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B ootP@ 1-B-yE VoD

|-

- ! Ko o BV Fmtnd” ik 2.11)
1-a-B-y+ay At bfa 1-a  AYD
E" sour ces
SFG E(0)
E' E 1 al b-1
2 m'/m al m/m
a2a a2b b-1 m'/m
m/2 b-2a b-2b b-2c
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al: a*r,,a b-1: 8%t ot

m'm’ m2-m'm

N N

a-2a a* Mmn0a a2b: gt a( ot b)a

VANV VANV A
V_- YV - W

b-2a ao*ruma b-2b: a0* trmB(fmatmmad’) b-2¢: &* trmY(Fmetmmab?)
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(2.11) X=a* Yp=a Y= rmztmmbZa

1 . A-(B+ o by LA 0
Enet: N _ N (rrﬁm! tm'm)D (B y) ' 2 g
l1-a-B-y+ay H ot 0 1-a  EotwPaf
_ | 2 ! 2
- rm'm(l rm2rn‘m b )+ rm2 (1+ r'rrmrmm)b ao* a
1-a-p-y+ay
I’m'm + rn2b2
=a,* 2.12
% al—or—B—y+0(y @12
SFG E'(h,)
m
V-
b-0: gt b
/\ m' m' m'
'Y R
\ Vo o\ V\ -
b-1a: 8g* FyypnF oy @ty b-1b: a* tymBb b-1¢: ao*tmmyb
(2.11) X=a* ¥%=0 Y =b
1 . A-(B+y) 1 tmm@ - 1100
net: 1_ _ -V + aO (rrﬂm! tm'm)D 20 ' D
a-B-y+ay F oot 1-a 0
= i *b (2.13)
“1-a-p-y+ay '
E" sources
SFG E(0)



a-0: g,

N N
m \/ m

a1 @ b-1: 8yl atnl ot &

mm' m2'rm'm

P \/\/ ¥ ’\ /\/ !
m m
m \/ m
a-2a agl mil mm0l 3 a-2b: ayf b0 (ot 0 E
bl . Pl
VA VvV Vo VV
b-2a agfmifmmfPa b-2b: aorm1tmmB(Fmatmma b’) b-2¢: armitmmY(Mmztmmdb?)
= (2.11)
X=afms Yo= a Yo = rmztmma2b2
D-L_ (B +y) rmltm'mazElb-2 D
E..=a,+ ag g (M trem) O 0l O
net aO 1—0 _B _y+ay (0} ml(mm mm)gmztmm-bza 1_a @‘mztmm-azbzﬁ

+ rm:l.(rm‘m + r'msz)a-z
1-a -B-y+ay

1- rm'mrmzb2
= N
1-a-p-y+ay

(2.14)
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b-0: yf b

AVANEEAWANE m-
\ VA "

b-18: 8gF iy ol 1@ Ly @0 b-1b: &rmitmmPBab b-1c: agarmitmmyb
(2.11) X=afma Yo=0 Vy,=b
1 A-(B+Yy) o tymd - 00
Epe™ T BTy (s tam) m o
1-a-B-y+ay H ot 0% 1-a gbg
= — Lol ab (2.15)
“I-a-Boytay '
m'/m Z SFG
E E'
m/m m/m

ermy D ermrmzbzrmmy = ermW
Xtmmrm'ltm'mazrmszrmmy = Xtmm[rm'ltm'mazlyy (216)

m'/m m/2
X‘tmmy' D ermrmzbztmmy = erm[rmzbztmm]y

Xtmrrirm'ltm'ma-zbztmmrm2y| = XtmmBy
Xtmrﬁrm'lrm'mazy = Xtmma y (217)



X(rmmyn + tmrﬂynl) = X(rmm'v tmm')

2L
)

=]

(n+1)

X[rmm(yyn + rmzbztmmynl) + tmm(rm'ltm' 2yyn +a ynl + Byn')]

r .t b?00y. O
= X (P tm-ﬁ’ me Dgy“.u

gmltm'mazy o+ B @Dyn 0
rot 20 Oy, O
X )T , T i
B’mltm'ma y a+ B @ Dyo 0
-y — ot bZD_lDy C
Enet:X(rm‘ml tm'm)D 2 e D D 0.[
BratemdyY 1-@+B)g VoL
1 0-@ + rotm by, O
= X(rm‘m1 rﬁm)D ( E) 2 %yoﬂ
1_G_B_y+ay Ermltm‘ma‘y 1_V E]you

E" sour ces
SFG E(0)
/ "
\/ m
b-0:by*r,, bt .a
v/ " N,
b-1la by*rbtnmaa b-1b: be* rbtnmBa
(2.18) X=b*r,b %=0 y'=a

(2.18)
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b-1c: b*r,Lbr (b )a



1 A-@ + rot b’ 000
@ +B) 2 T

Eni= By * brs (F st ) O C
" l-a-B-y+ay o )gmltm.mazv 1-y gRC
—- rnﬂtmm' *
_1—G—B—y+0(y b, * ab (2.19)
SFG E'(h,)
m
x m
a-0:b*

A VAR

al:b*r,r,.b° b-1: br t. br .t &b

0 " m2*mm™" m'1*m'm

AT VAR VAN

a-2a b*r . b(r r..b)b a-2b: by* Fgtomb(fmitm aY)b

AEAVANREVAVAN
WA EVAVARA .

b-2a bo* Il mrbBb b-2b: by* ot D0 (Tt 80)D b-2¢: be* gt BB (it @)D

by* (2.18)
X=b*r b yo=b y'= rm'1tm'mazb



1
E=bo* +
net 0 1—C1—[3—Y+GV
2 2
=b,* +b Mo (T + @) ,
1-a-B-y+ay
— (1+ rlm'rm'maz) b *
l1-a-B-y+ay =
E" sour ces
SFG E(0)
/ "
7/ m
b-0:bgt,,a

AV,

7 m

b-1a bit.maa

(2.18) X =by

1
1-a-B-y+ay

Ene1 =

O(rmm':

-

“1-a-p-y+ay

b,a

SFG E'(h,)

by *br (G

H—(G+B)
gml mma y

3

/N /

/

\/ m

=0 y'=a

b-1b: byt,mBa
- (G + B) I ol b2 D[O[
gml mma‘ y 1 y E[a[
SFG -1

rmZt mm'bz E'.%b

1 - y @’nﬂtm'mazb

(2.20)
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b-1c: by,

root

mm’ m2 m'm

bZ

(2.21)
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a1 byr,b
m
A
a-2a bormmyb

b-2a: byrmmfBb
(2.18) X = b,
1
= b .
net 1-a - B -y +(1y O(rnm
+r..a’
- (rnm rmla ) bob
1-a-B-y+ay
A
/m/m
E A
o o0 B} i
E- Ep 9 A=[ 11 S 0
17 (A1 Ax[]

E-A’=(E-A)E +A)
E-A’=(E-A)E +A +A)

-

/ \ m

b-1: byt Foatm&D

AN

7 V\ -

a2b: byt,,.( b’e)b

m'ltm'mrermm'

AVANEIWAVAN
7 T 7V v

b-2b: Bt (Qrm2a)b b-2¢: botmmFmetmmBalb

Yo=0 Yo = Mste@D

Ijl- - (G + B) rmztmm'b2 [":b D
D 0 0
gmltm‘mazy 1-y Egmlt mm& b@
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E-A"Y=(E-A(E+A+A%+...+A"

IE - A E-A (E-A)*

E+A+A’+.-+A"=(E-AE-A" (n=0)
n=0,1,2 (A5) (A 5)

A 1

lim, .(E+A+AZ+.-+A") =(E-A)" (when|A|<1fordliandj)

B 2 3
(B.1) (B.2)
rxX'u
rYu

rr=rA, U=Au
Y=AXA", X=A"YA
(b/rmztmmb2 = rm‘:Ltmma-2

(B.3) (B.4) (B.1)

r'X"u = rA(AYA)(AYA)(AYA)--(AMYA) = rY"Au = rY'u'

g. e d.

(A 4)

(A 5)

(A 6)

(B.1)
(B.2)

(B.3)
(B.4)

(B.5)



